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Write an algorithm to check whether the given num-
ber is even or odd.

803 MMd HESWIEIM) BQ®IGIN) oM GEB3ailS)
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XY@ Step 1 : Start

Qn.

Step 2 : Read a numberto N

Step 3 : Divide the number by 2 and store the
remainderin R.

Step4 : IfR=0 Thengoto Step 6

Step S5 : Print "N is odd" go to step 7

Step6 : Print"Nis even"

Step7 : Stop
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Write an algonthm to find the largest of 2 num-

‘bers?

eaE mmudled mlmgo OJEI3(0) ams;;u"lslmgrmmﬂmg@ 803
algonthm o 93036.

XYE Step 1 : Start

Qn;

Step 2 : Input the values of A, B B
Step 3 : Compare Aand B. If A> Bthen go to step5
Step4 : Print"B is largest" go to Step 6
Step 5 : Print "A is largest" '

Step6 : Stop
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Write an algorithm to find the sum of n natural num-
bers and average?

- n Natural numbers o0} m3ow30 average 8o &5“33(;“51

oMmaoilmyas algorithm n@m«nace,

XIS Step 1 : Start

Qn.

Step 2 Set|+—1;S 0
Step 3 : Read a number and set to n

Step4 : Computeriand nifi>nthengoto step 7.
Step5 . SetS « S+

Step6 : i<« i+1goto step 4

Step7 : avg « S/n -
Step 8 : Print "Sum = S and average = avg"
Step 9 : Stop
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Wirite an algorithm to find the largest of 3 numbers.
3 mmudlod mlamge e’ eem3alISlenymaimigs algorithm
aPOIO3S.

Step1 : Stat :

Step 2 : Read 3 numbers and store in A,B,C




Qn.

Step 3 :
Step 4
Step 5
Step 6
Step 7 :
Step 8 :
Step 9 :
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CompareA and B. If A>B thengo to Stepe
Compare Band C if C>B thengotostep,
print "B is largest " go to step 9

Compare A and C if C>Athen go to step

Print " A is largest" go to step 9
Pnnt "Cis Iargest"

Write an algorithm to calculate the SImpIe mterest
(I =P*N*R/100) - |

O30

Qn.

| _Step2 :
Step 3
. Print "The simple interest =|"
. Stop -

Step 4
Step 5
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m Step 1

. Start

Write an algorithm to calculate the compound in-

terest (C.I = Px(1+r/100)n - P)
3353018l &) aﬂsmag(m(oﬂm;;@ algorlthm acp@g(mm |
. Start
Step 2
Step 3 :
Step 4
Step 5 :

Simple interest @,emg ojlslse)gfm(oﬂmggg algorithm agwg

Read 3 values for P, N R
Calculate | « P*N*R/100

Read 3 number forp,n,r
Calculate Cl = p x(1+r/100)n - p
Print "The compound Interest = C.I"
Stop




